3238 DI/R$H

Ideal Bell Technology

FoLRy  senpoid J3[eapl (&)

WORK TOGETHER WITH YOU

AL /RE B R R AT

Bk PEHTY 8B ITIEK IFEREEE 56 S
Ei%: 0086 — 574 — 87251225

fEBL: 0086 — 574 — 87251216

EBHE: sales@ideal-bell.com

RgaE: www.ideal-bell.com

Zhejiang Ideal Bell Technology Co.,Ltd.

Add: No.56 South Huancheng Road, Panan Industrial Park, Zhejiang Province, China
Tel : 0086 - 574 - 8725 1225

Fax: 0086 - 574 - 8725 1216

E-mail: sales@ideal-bell.com

Website: www.ideal-bell.com

www.ideal-bell.com



Certifications
NENER

Certificate No.: 10114Q16115R05
warded to

B i
ZHEJIANG IDEAL BELL O CERTIFICATE OF ADEQUACY
TECHNOLOGY CO., LTD. Ga/1067/3177 3L sswe 1
Oapaon ot ot . 0127400
A0 EANCHENG SO RO AN SUSTHAL ARSIV 7 EASGOSA
Beji ertfication Conter (ZLTR) crefy oo
Quality Management Systcm of the above organization has been asessed and found v be

i accordance wath the requiremments of the sandard:

Product Name: Tube Connector (Stain 1509001: 2008

SCOPE OF CERTIFICATION/REGISTRATION
SALES OF FITTINGS

CONNECTORS)

Subject i i ity with Quality M 1 Systom,
This Certfcate i vald for a period of three yesrs only,
Date from: Nov 101,204 To: Nov 9th, 2017
this C Validaled by periodic

L0006 OSI
L0006 OSI

GQDW20140080
¢ed Adjusting Pneumatic Tube
Fittings

Company Name:ZHENANG IDEAL BELLTI

is Certi ot
i stuck there under by ZLTR within ayprepr

Zhejiang Ideal-bee]
__ Technology Co, , LT

Entrusted Tesy

Beijing Zhongliantianrun Certification Center

Bace 2401, 202, B 1, R, Buiog P2 Cana 300102

Page 179
MSDS NO. ADOIRISOV2S0201
Crestion Dase: Sscember 30, 2015

Applicam:  Zhejiang ideal-bell sechmology co., hd.
Addres NO.96 South Husmpeheng Rosd Pan” an Indesrial Pk Zhejisng Chins

Samplc information:
Sample nar: Stinlcss Sisl Push In Fising.

Model

‘Sampl compositionraw macrsl (supplied by client): Refer 1o section 3 of the MSDS™Compasiion Information o
Ingreducnt™

Edit perod: From Sepicmber 28, 2011 1o Septcanber 30, 2018

As spoified by the client, 10 edit Muierial Safesy Data Sheet (MSDS) by the subenitied
sarpi nformaion

i As spocified by the clent, This safety data shost was propared in accontance with UN
GHS Rex . The EU CLF REGULATION (EC) No 127272008, and US OSHA Hasasd
Comemnicasion Sandaeds (39 CFR 1910.12000. Please refet o the aischod repont for
deuit.

‘Shanghai Chamgyin Testing Tochnology Co.Lid

-&

Shanghai Changyin Testing Technsiogy Co.Lid
Rosen 1018, VA Trnes Busness Bubdes, No 16, Xinyuan Road, Antig Town, Jadeng Disbict, Shanghas
2208, Fax -8 021 41843208

Company Prolife
AT

TaNRE-REEFHENBARRS A—ENQR, MILT 2007 £, £F-EMITHTERTIER, SHEFR 10000 F55K, Fik
ARSERAEBRIRE, TEUWERMEARERKEES, BEEEM™ 2500 51 =RHEEN.

TaIURE RS, S, BER, SELMES, S8, HRRESR, RESRIOZATSERS, Ty e, As, BR,
BT, SRS,

LwNRERMILCR—ERYRRREVNR—Ea. Mit, 2FET I1S09001: 2008, HEITWNREBERGRNLEMERIE
FERERARREM, ERSEE CE. SGS Ff A, SERVBIM/REFH “IDEALER™ REERIISEF=RETHEIMN, J=ill, mBEs
M, M, FERF 40 STERTHE, FRREEFIARTHIER.

Ideal-bell originated in 2007 as a professional manufacturer of pneumatic components. We owning and operating “IDEALER®” trademark fittings,
but also is experienced in ODM & OEM service.

We offer a wide range of products to satisfy your requirements. Such as Push in fittings, Pneumatic Cylinders, Solenoid valves, Air source Unit,
Air Tube, Muffler & air gun etc., which are widely used in automotive industry, auto-machinery, environmental protection, medical equipments,
construction, and packaging industries and so on.

Ideal Bell production plant locates in Panan Industrial park, Jinhua, which is 2 hours away from Ningbo port. It covers 10000m?, equipped with dust-
free work shop & auto assembly lines & modernized laboratory, annual production capacity reaches 25 million pcs. Quality is the priority of Ideal
bell, cost efficiency constant! In order to earning that, we passed 1509001:2008 to standardize our production procedure and quality control system,
also getting CE, SGS, etc. certifications. Our goods are well recognized in world market, such as Europe, South America, North America, Asia, Middle
East, etc.

To work better with our customers, we will continually develop new and innovative solutions to meet your needs. Our experienced staff and high

equipped facility enabled us to support you competitive in your market!

Zhejiang Ideal Bell Technology Co.,Ltd. 04



www.ideal-bell.com

Composite Push In
EEPS

Structural Diagram

) Tube(Polyurethane,Nylon)

© Collar(Zinc) BE (PUE, ERE)

HE (#o%)

@ Release Sleeve(POM)
BHET (RPE)

 Lock Claw(SUS)
*E (FEMN)

(® Back Ring(POM)
S (REE)

® U-Packing(NBR)
B (THERER)

3 Plastic Body(PBT)
YA (PBT)

@ O-Ring(NBR)
O BUE (THHIRAER)

@ Thread
SREL

@ Metal Body(Brass)
EEEBS (H)

Features/ 451

- One-Touch push-to-connect conflguration allows an instant tubing connection.

- Smoth-Edge release sleeve design facilitates a quick tubing disconnection,

- we can make both Brass or Nickel plated color. Nickel plated ensures anti-contamination properties for an extended product life.

- Pre-applied sealant on all external threads eliminates the additional sealing requirement.

- Internal and/or external flat-to-flat hexagonal configurations for both metric and inch specifications allow a proper tightening or directional

orientation upon installation by using L key or allen wrench for the applicable model types.

Specifications/ i ARFHE

Applicable Fluid Type
Working Pressure Range
Negative Pressure

Working Temperature Range

Recommanded Tubings

Air, Water(No Drinking Water/Hot water)

-14~150 PSI

-0.99~9.9Kg#/m?(-99~990Kpa)

295 in Hg(-14PSI)

-750mmHg(-750Torr)

23~140 °F (Air)  32~104 °F (Water)

-5~60°C (Air) 0~40°C (Water)

PA11, PA12, PAG, PE, PU,FEP,PFA

Tube Outside Diameter You Can Choose As Follows:

Thread Size For Your Choice As Follows:

A LIRS EIMERIT: EA LSRR R INT:
_ Metric Size/ %R~ Inch Size/ FHHIR~F Code No. {2
Code No. £85 4 6 8 10 12 | 5/32 | 1/4 | 5/16 | 3/8 1/2 m
e Thread Size B8R~
T“b?ét;;%f’ Dia| 04 | o6 | 08 | 010| 12| 05/32| d1/4 |05/16| 03/8 | d1/2 NE I

Zhejiang Ideal Bell Technology Co.,Ltd. 40



www.ideal-bell.com

Composite Push In Fittings
AR L

PC PC

| | Tweon | mer | [ 0 0| ] [ | twbeoo | [ e | | [ | ]
____ [ ftemCode | Tubeo | Ao [ B | _c | L [ sw
PC3-01 3 18 205 2 PC3-GOL 3 14 18 55 195 10 2
PC3-02 3 14 . 195 7 2 PC3-602 3 17 14 69 195 10 2
PC4-01 4 18 75 205 10 3 PC4-GOL 4 14 V] 55 195 10 3
PC4-02 4 14 9 195 14 3 PC4-GO2 4 17 1a 69 195 10 3
PC6-01 6 18 15 209 12 5 PCE-GOL 6 14 18 55 199 2 5
PC6-02 6 1/4 9 214 14 5 PC6-GO2 6 17 14 69 214 12 5
PC6-03 6 3/8 10 24 17 5 PC6-G03 6 19 38 82 214 o) 5
PC6-04 6 12 13 254 21 5 PC6-GO4 6 24 12 92 24 12 5
PC8.01 8 18 75 255 1 5 PC8-GOL 8 14 18 55 245 14 5
PC8-02 8 14 5 2 1 6 PC8-G02 8 17 14 69 29 14 6
PC8-03 8 3/8 10 27 7 6 PC3-G03 8 19 38 82 87 14 6
PC8-04 8 12 13 257 21 6 PCB-GO4 8 24 12 92 22 14 6
PC10-01 10 18 75 279 v 5 PC10-G01 10 14 s 55 268 17 5
PC10-02 10 14 9 27.9 7 6 PC10-G02 10 17 14 69 281 17 6
PC10-03 10 3/8 10 2786 Y 8 PC10-G03 10 19 38 82 26 17 8
PC10-04 10 12 13 261 2 8 PC10-G04 10 24 12 92 241 17 8
PC12-02 2 14 9 315 19 6 % PC12-G02 1 17 14 69 30 19 6
PC12-03 2 3/8 10 26 19 8 - PC12-G03 1 19 38 82 a1 19 8
PC12-04 2 12 13 30 21 8 PC12-G04 P 24 12 92 26 21 8
- PC16-02 16 14 9 355 2 9 # PC16-G02 16 2 14 82 344 24 9
PC16-03 16 3/8 10 365 2 $125 L PC16-G03 16 n 38 92 3.7 24 $125
s < > Dg PC16-04 16 12 13 355 2 15 PC16-G04 16 24 12 10 367 24 15
7 1) E PC16-06 16 3/4 14 2 27 15 PC16-G06 16 30 34 10 28 24 15

item Code -_ SW1
PCS/32-N01 5122 8 75 205 10 3 ___“
PC5/32-N02 5/32 14 9 195 14 3 POC3-01 75 205 2
PCL/4-NOL 14 18 75 209 12 5
PC1/4-N02 1/4 14 9 214 14 5 POC3-02 3 10 /4 9 195 2
. PCL/4-NO3 14 38 10 224 7 5 POC4-01 4 10 18 75 205 3
PC1/4-N04 1/4 12 13 254 21 5
Q B
PC5/16-N01 5/16 1/8 75 255 14 5 FOC#02 4 10 L4 3 195 3
PC5/16-N02 5/16 1/4 9 24 14 6 POC6-01 6 12 s 75 209 5
PC5/16-N03 5/16 38 10 27 17 6
- PC5/16-N04 5/16 112 13 25.7 21 6 POC 6-02 6 14 1/4 9 214 5
PC3/8-NO1 38 18 75 279 17 5 POC6-03 6 17 3/8 10 224 5
= PC3/8-N02 38 1/ 9 279 17 6
P 22 1/2 1 25,4
2 < > > g PC3/8-NO3 3s 38 10 76 17 8 ki 6 / 4 2
7 PC3/8-N04 38 12 13 261 21 8 - POCE-01 8 1 8 75 255 5
PC1/2-N02 12 1/4 9 315 19 6 mepy . 1 ™ 5 3 é
4— PC1/2-N03 12 38 10 296 19 8 =
PCL/2-N04 12 12 13 30 21 8 POC 8-03 8 17 38 10 27 6
POC 8-04 8 2 12 13 257 6
o POC 10-01 10 17 18 75 219 5
B POC 1002 10 17 1/4 9 219 &
w& POC 10-03 10 17 3/8 10 27.6 8
I I YT R R I R ¥ POC 10-04 10 2 12 13 219 8
| ftemCode | Twbee [ B [ ¢ [ . [ sw [ | e s 5 7 5 5 .
PC4-M6-L 4 65 C 1202 0 1
PC3-M5 3 M5 35 20 10 POC 12-03 12 20 38 10 296 8
REMG : Md 3 2L 10 POC 12-04 12 2 12 13 278 8
PCA-M5 4 M5 35 20 10
PCA-MG 4 Ms 45 7n 10 POC 16-03 16 2 38 10 365 8
. = . . — - POC 16-04 16 24 12 13 365 10
PC6-M6 6 M6 45 214 12

Ly Zhejiang Ideal Bell Technology Co.,Ltd. 42



www.ideal-bell.com

Composite Push In Fittings
AR L

POC PCF

I .S S 2 S S — | Tbeon |
- item Cod Tub
POC5/32-N01 5/32 1[8 20 5 3 Emease e
POCS/32-N02 5/32 10 14 9 195 3 PCF5/32-N01 5/32 106 1/8 95 255 12
POC1/4-N01 1/4 12 1/8 75 209 5 PCF5/32-N02 5/32 10.6 1/4 1 27 17
POC1/4-N02 1/4 14 /4 9 214 5 PCF1/4-NO1 1/4 124 18 95 259 14
POC1/4-N03 1/4 17 3/8 10 24 5
POC1/4-N0O4 1/4 2 12 13 254 5 PCF1/4-N02 1/4 124 1/4 11 214 17
POC5/16-N01 5/16 14 1/8 75 255 5 PCF1/4-N03 1/4 124 38 12 284 19
xgﬁg':g: :ﬁ: i; ;}{g 1‘; 22247 : PCF1/4-No4 1/4 12.4 12 15 214 24
POCE/16-N04 5/16 25 12 13 5iq P PCF5/16-N01 5/16 137 1/8 95 215 14
A POC3/8-N01 3/8 17 1/8 75 279 5 PCF5/16-N02 5/16 146 1/4 11 29 17
- P°C3;3-N°2 3;8 17 1;4 9 219 6 PCF5/16-N03 5/16 146 3/8 12 30 19
POC3/8-NO3 3/8 17 3/8 10 276 8
== POC3/B-ND 3 3 iz 5 =73 3 l PCF5/16-N04 5/16 146 12 15 31 24
3] \_B POC1/2-N02 1/2 20 1/4 g 32 6 PCF3/8-N01 3/8 16.8 1/8 9.5 29.8 17
u_ 7 POC1/2-N03 1/2 20 3/8 10 296 8 7 PCF3/8-N02 3/8 16.8 1/4 11 313 17
sw& BOSHZND 42 - 1 1 28 8 o k. PCF3/8-N03 3/8 17.6 3/8 12 323 19
% B PCF3/8-N04 3/8 176 12 15 353 24
w& PCF1/2-N02 1/2 19.6 1/4 1 334 21
5
PCF1/2-N03 1/2 196 3/8 12 34.4 21
PO C PCF1/2-N04 12 19.6 12 15 374 24
T [ | Tuweoo [ |  Metic [ | [ |
_ ___
POC 3-M5 3 M5 2
A POC 3-M6 3 10 M6 4.5 21 2 PCF
POC 4-M5 4 10 M5 35 20 2
i POC 6-M6 6 12 M6 4.5 22 2 PCE3-GOL 106 18 s
c[ % O-Ring PCF3-G02 3 10.6 1/4 9 25 17
-~ B PCF4-GOL 4 10.6 1/8 8 24 12
PCF4-G04 4 10.6 1/2 13 29 24
PCF6-GO1 6 124 1/8 8 24.4 14
P C F PCF6-G02 6 124 1/4 9 25.4 17
PCF6-G03 6 124 3/8 10 26.4 19
| | Tweoo [ | esr [ 2 0 | N PCF6-G04 6 12.4 112 13 29.4 %
-x--s-——
p BEETGN 3 106 18 55 o PCF8-GO1 8 138 1/8 8 26 14
PCF3-02 3 10.6 1/4 1 27 17 E PCF8-G02 8 14.6 1/4 9 27 17
PCF4-01 4 10.6 1/8 95 255 12 PCF8-G03 8 14.6 3/8 10 28 19
PCF4-02 4 10.6 1/4 11 27 17
PCF8-G04 8 14.6 1/2 13 3 24
PCF6-0L 6 124 18 95 259 14 /
PCF6-02 6 12.4 14 1 Py o7 . PCF10-G01 10 16.8 1/8 8 283 17
PCF6-03 6 124 3/8 12 28.4 19 PCF10-G02 10 16.8 1/4 9 293 17
N PCER-0% 6 124 L 13 s 24 sw PCF10-GO3 10 176 38 10 30.3 19
PCF8-01 8 137 1/8 95 215 14 o
. PCF8-02 3 14.6 14 1 29 o7 PCF10-G04 10 176 1/2 13 333 24
PCF8-03 8 146 3/8 12 30 19 PCF12-G02 12 19.6 1/4 9 314 21
PCF8-04 8 146 12 15 3 24 B/ PCF12-GO3 12 19.6 38 10 324 21
PCF10-01 10 16.8 1/8 8.5 29.8 1T o e 5 G - = S -
e PCF10-02 10 168 1/4 1 313 17 Lo L L / :
B PCF10-03 10 17.6 3/8 12 323 19 PCF16-G02 16 237 1/4 9 37 24
SW. PCF10-04 10 17.6 1/2 15 353 24 PCF16-G03 16 237 3/8 10 a8 24
i de 2L = i N 2 5 2l PCF16-G04 16 23.7 1/2 13 41 24
PCF12-03 12 19.6 3/8 12 344 21 :
- B __ PCF12-04 12 19.6 12 15 37.4 24 PCF16-G06 16 23.7 3/4 16 42 32
PCF16-02 16 237 1/4 11 37 24 PC16-G06 16 30 3/4 10 28 24
PCF16-03 16 237 3/8 12 38 24
PCF16-04 16 237 12 15 a1 24
PCF16-06 16 237 3/4 16 22 32

43 Zhejiang Ideal Bell Technology Co.,Ltd. 44



www.ideal-bell.com

Composite Push In Fittings
AR L

PL PL

T Tweeoo| | T | T
I S N O - R
PL3-01 1/8 8 6 17.8 233 28.7 10
e 5 5 i 1 8 T § pa e - = PL4-M6-L 4 11 74 7 M6 32 245 17.8 8 10
PL4-01 4 75 1 1/8 8 32 6 17.8 233 287 10 PL4-M5 4 11 74 35 M5 32 21 17.8 8 10
PL4-02 4 9 i 14 8 32 6 17.8 33 30.2 14 PL4-M6 4 1 7.4 45 M6 32 2 17.8 8 10
PL6-01 6 7.5 13 1/8 9 3.2 6.5 208 27.3 322 12
/ PL6-M5 6 13 9.3 35 M5 32 23.8 209 9 12
PL6-02 6 9 13 1/4 9 3.2 6.5 208 27.3 337 14
PL6-03 6 10 13 38 9 32 65 208 273 357 7 Broghis g £ O G M6 22 288 209 g i
PL6-04 6 13 13 142 9 32 6.5 208 27.3 387 21
PL8-02 8 9 14,6 1/4 10 3.2 6.5 234 307 389 14
el L D e e e T T T . tem Code --nﬂﬂ“--
PL8-04 8 13 146 12 10 3.2 6.5 234 30.7 439 21 e PL3-G01 8 6 17.8 233 26.7
H PLIC-0L 10 75 17.6 1/8 11 3.2 6.5 25.7 34,5 40.9 17 — I PL3-GO2 3 6.9 11 1/4 8 32 6 17.8 233 282 17
G
i < o o i - = - = Ll F # PLAGOL 4 55 1 18 8 32 6 178 233 267 14
PL10-03 10 10 17.6 3/8 11 32 6.5 25.7 345 443 17 af ||H
i p—— e peme 112 il ol - prems w—— preme S . A E PL4-GO2 4 69 1 1/4 8 32 6 17.8 233 282 17
| PL12-02 12 9 21 1/4 12.75 3.2 6.5 29,7 402 471 19 PL6-G01 6 5.5 13 1/8 9 32 6.5 208 213 302 14
PLI203 12 10 21 3/8 12.75 3.2 6.5 29.7 402 496 19 & o PL6-G02 6 6.9 13 1/4 9 32 6.5 208 27.3 3L6 17
= c
PL1I204 12 13 21 1/2 12.75 32 6.5 29.7 402 526 21 e - oG o a8 5 o e e — o -
PLI602 16 9 26 1/4 15 42 8 345 475 56.7 24
PL6-GO04 6 92 13 172 9 32 6.5 208 273 349 24
PL16-03 16 10 26 3/8 15 42 8 345 475 577 24
PL16-04 16 13 26 1/2 15 42 8 34,5 475 60.7 24 PL8-GO1 8 5.5 14.6 1/8 10 3.2 6.5 234 30.7 354 14
PL16-06 16 14 26 3/4 15 42 8 345 475 61.7 27 PL8-GO2 8 6.9 14,6 1/4 10 3.2 6.5 23.4 30.7 36.9 17
PL8-GO3 8 82 146 3/8 10 32 6.5 234 30.7 39.1 19
PL8-GO4 8 9.2 14.6 1/2 10 32 6.5 23.4 30.7 40.1 24
PL10-GO1 10 5.5 176 1/8 11 32 6.5 25.7 345 38.8 17
PL10-G02 10 6.9 17.6 1/4 11 32 6.5 25.7 345 404 17
PL10-G03 10 82 17.6 3/8 11 32 6.5 25.7 345 424 19
PL PL10-GO4 10 9.2 176 1/2 11 32 6.5 25.7 345 435 24

PL12-G02 12 6.9 21 1/4 12.75 3.2 6.5 29.7 40.2 45 19

PL5/32:-N0L 532 e PLIZGO3 12 82 n I8 1275 32 65 297 402 476 19
PLS/32-N02 5/32 9 25 188 1/4" 1 1 PLIZGO4 12 92 21 12 1215 32 65 297 402 486 24
PEL/ANOL 1 L 2 208 s C e PLIGGO3 16 82 2% 38 15 42 8 M5 415 554 2%
PL1/4-NO2 14 9 245 206 2y 13 14
. PLIGGD4 16 92 26 12 15 42 8 345 415 564 24
PL1/4-N03 14 10 55 206 3/8 13 it
PL1/4-NO4 1/4 13 295 206 1/2" 13 21 PL16-G06 16 10 26 3/4 15 4.2 8 34.5 415 ST.7 30
PLS/16-NOL 5/16 75 n 28 18" 145 12
PL5/16-N02 5/16 9 245 28 2y 145 14
PLS/16-N03 5/16 10 85 28 38" 145 i
H & PL5/16-N04 5/16 13 315 228 /2" 145 21
PL3/8-NO1 38 75 2 252 18" 178 17
I PL3/8-NO2 3/8 9 215 252 1/4" 17.8 17
1 PL3/8-N03 38 10 295 5.2 3/8" 178 Y
i PL3/8-N04 3/8 13 325 25.2 12" 17.8 21
PL1/2-N02 112 9 285 307 18 21 17
PL1/2-N0O3 1/2 10 30.5 30.7 3/8" 21 17
PL1/2-N04 112 13 135 307 Yz 2 2

45 Zhejiang Ideal Bell Technology Co.,Ltd. 46



www.ideal-bell.com

Composite Push In Fittings
AR L

NPL NPL

TN

NPL5/32-NO1

Tubo OD NPL1/4-NO1 1/4
[1‘ PL4-M5 NPL1/4-N02 1/4 9 245 206 1/4" 13 14
NPL1/4-N0O3 1/4 10 255 20.6 3/8" 13 17
PL4-M6 4 45 20.5 18.8 11 12 NPL1/4-N04 1/4 13 29.5 20.6 12" 13 21
NPL5/16-NO1 5/16 7.5 22 228 1/8" 145 12
FLEMS 6 S = b I3 = NPL5/16-N02 5/16 9 245 22.8 1/4" 145 14
PLEE g A5 36 o s 12 NPL5/16-N03 5/16 10 285 28 3/8" 145 17
NPL5/16-N04 5/16 13 315 228 1/2" 145 21
NPL3/8-NO1 3/8 7.5 26 252 1/8" 17.8 17
NPL3/8-N02 3/8 9 275 252 1/4" 178 17
NPL3/8-N03 3/8 10 29.5 25.2 3/8" 178 17
NPL3/8-N04 3/8 13 325 252 1/2" 17.8 21
NPL NPL1/2-N02 12 9 285 30.7 1/4" 21 17
NPL1/2-N03 1/2 10 305 30.7 3/8" 21 17
NPL1/2-N04 12 13 335 307 1/2" 21 21

Item Code

NPL4-01 4 7.5 225 1838 1/8" 11 12
NPL4-02 4 9 25 18.8 /4" 11 14
NPL6-01 6 75 2 20,6 18" 13 12 PLF
NPLE02 6 5 5 26 e 13 " 1
wisos s oo oms ws e 5 1 EER IR ETER
—— " - . - - - 51 PLF3-01 3 115 1 1/8 8 32 6 178 233 287 12 95
PLF302 3 13 1 1/4 8 32 6 178 233 302 17 1
NPL8-01 8 75 2 22.8 1/8" 145 12
f PLFA-01 4 115 1 18 8 32 6 178 || 233 | 287 12 95
NPL8-02 8 9 245 28 14" 145 14 PLFA-02 4 13 1 1/4 8 32 6 178 233 302 17 1
NPL8-03 8 10 28,5 228 3/8" 145 7 PLF6-01 6 10.5 13 18 9 32 65 208 273 312 12 95
NPLED . 1 - 5.8 2 s %1 PLF602 6 13 13 1/4 9 32 6.5 208 213 337 17 11
= PLF6-03 6 14 13 3/8 9 32 6.5 208 2713 347 19 12
NPL10-01 10 75 26 252 1/8 17.8 17
PLF6-04 6 17 13 172 9 32 6.5 208 213 317 24 15
SPELUS . 8 e 252 14 i 7 ) PLFBOI 8 105 146 18 10 32 65 234 307 364 14 95
NPL10-03 10 10 29,5 252 3/8" 17.8 17 s PLF8-02 8 125 146 1/4 10 32 6.5 234 307 384 17 11
NPL10-04 10 13 325 25.2 1/2" 17.8 21 — ] PLF8-03 8 14 14.6 3}'3 10 32 6.5 23.4 30.7 39.9 19 12
P = s e = " > = F J— o PLFB-04 8 17 146 12 10 32 65 234 307 429 24 15
. . i PLF10-01 10 6.1 176 18 1 32 6.5 257 345 354 17 95
NPL12-03 12 10 305 307 3/8' 21 17 =
y LENAWY PLF10-02 10 1.1 176 1/4 1 32 6.5 257 345 404 17 1
NPL12-04 12 13 335 30.7 12" 21 21 E PLF1003 10 136 176 3B 11 32 65 57 45 429 19 12
o i
t PLF10-04 10 171 176 12 11 32 6.5 257 345 464 24 15
e PLF1202 12 6 21 14 1275 32 65 297 402 401 19 1
PLF1203 12 125 21 38 1275 32 65 297 402 466 19 12
PLF12-04 12 17 21 12 1275 32 65 207 402 511 24 15
PLF16-03 16 6 26 3/8 15 42 8 345 415 417 24 12
PLF16-04 16 167 26 12 15 42 8 345 415 584 24 15

47 Zhejiang Ideal Bell Technology Co.,Ltd. 48



www.ideal-bell.com

Composite Push In Fittings
EE R L

PLF PLL

remcoie [ubeo] & | o | ¢ | o | € | ¢ | o [ "]t s | | remcode [eo| 4 | 50 | ¢ | o | & |
PLF5/32-N01 5/32 11.5 11 1/8 8 32 6 17.8 233 28.7 12 9.5 PLL3-01 3 15 11 1/8 8 3.2 6 17.8 233 43,7 10
PLF5/32-N02 5/32 13 11 1/4 8 3.2 6 17.8 233 30.2 17 11 PLL3-02 3 9 11 1/4 8 3.2 6 17.8 233 45,2 14
PLF1/4-N01 1/4 105 13 1/8 ] 3.2 6.5 20.8 273 31.2 12 9.5 PLL4-01 4 7.5 11 1/8 8 3.2 6 17.8 233 43.7 10
PLF1/4-N02 1/4 13 13 1/4 9 3.2 6.5 20.8 273 337 17 11 PLL4-02 4 9 11 1/4 8 3.2 6 17.8 233 452 14
PLF1/4-N03 1/4 14 13 3/8 9 32 6.5 20.8 273 34.7 19 12 PLL6-01 6 75 13 1/8 9 3.2 6.5 20.8 273 48.2 12
PLF1/4-N04 1/4 17 13 1/2 9 32 6.5 20.8 273 377 24 15 PLL6-02 6 9 13 1/4 9 3.2 6.5 20.8 27.3 49,7 14
PLF5/16-N01 5/16 10.5 14.6 1/8 10 3.2 6.5 234 30.7 36.4 14 8.5 PLL6-03 6 10 13 3/8 9 3:2) 6.5 20.8 27.3 51.7 17
PLF5/16-N02 5/16 125 14.6 1/4 10 3.2 6.5 234 307 384 17 11 PLL6-04 6 13 13 1/2 9 3.2 6.5 20.8 273 54.7 21
L P PLF5/16-N03 5/16 14 14.6 3/8 10 32 6.5 234 30.7 39.9 19 12 H PLL8-01 8 1.5 14.6 1/8 10 3.2 6.5 234 30.7 56.4 14
PLF5/16-N04 5/16 17 14,6 1/2 10 3.2 6.5 234 307 42,9 24 15 r'L— PLL8-02 8 9 14,6 1/4 10 3.2 6.5 234 30.7 579 14
f ] I ) PLF3/8-N01  3/8 6.1 176 18 11 59) 65 257 345 354 17 9.5 F‘ o PLL8-03 8 10 14.6 3/8 10 32 65 234 30.7 59.9 17
;T_ 1 PLF3/8-N02 3/8 11.1 17.6 1/4 11 3.2 6.5 25.7 345 40.4 17 11 DT PLL8-04 8 13 146 1/2 10 3.2 6.5 23.4 30.7 62.9 21
g it & PLF3/8-N03 3/8 13.6 17.6 3/8 11 3.2 6.5 25.7 345 429 19 12 D £ PLL10-01 10 1.5 17.6 1/8 11 3:2 6.5 25.T 34,5 64.9 17
2 & PLF3/8-N04 3/8 17.1 17.6 1/2 11 3.2 6.5 257 345 46.4 24 15 O PLL10-02 10 9 17.6 1/4 11 32 6.5 25,7 345 66.3 17
- J: E é PLF1/2-N02 1/2 6 21 1/4 12.75 3.2 6.5 29.7 40.2 40.1 19 11 {sw PLL10-03 10 10 176 3/8 11 3.2 6.5 25.7 345 68.3 17
PLF1/2-N03 1/2 125 21 3/8 12.75 3.2 6.5 29.7 40.2 46.6 19 12 PLL10-04 10 13 176 1/2 11 3.2 6.5 25.7 345 713 21
CS PLF1/2-N04 1/2 7 21 1/2 12,75 3.2 6.5 297 40.2 51 24 15 < o PLL12-02 12 9 21 1/4 12575 3.2 6.5 29.7 40.2 Tl 19
-2 PLL12-03 12 10 21 3/8 12,75 3.2 6.5 29,7 40,2 73.6 19
PLL12-04 12 13 21 1/2 12.75 3.2 6.5 29.7 40.2 76.6 21

PLF PLL

| Jweoo| | Jewe| | [ | [ | ] [

_ Tube OD NPT
Cromcode oo & | w9 | ¢ | o | € | v | o | 7| [ ] ool ] Je ) 1 L o
3 10 11

Cremcons T | & | 50 | ¢ | o | & |+ [ o | v | | o]
75 11 1/8 3.2 6 233 10

bl

PLF3-GOL 1/8 8 €] 6 178 233 272 12 8 s 5 = =
PLF3-G02 3 11 1 1/4 8 32 6 178 233 282 17 9 T 5 u - n ™y & P —" 1
PLF4-GO1 4 10 1 1/8 8 32 6 178 233 272 12 8

oLFA.G03 . 0 L r . 2n . - = . PLLI/4-NOL  1/4 75 13 18 9 3.2 6.5 208 273 482 12
PLFB-GOL 6 9 13 18 9 32 65 208 2713 297 12 8 PLLL/A-NO2 14 ° 13 14 ° 32 6.5 208 273 497 14
PLF6-G02 6 1 13 1/4 9 32 65 208 273 317 17 9 PLLL/4-NO3  1/4 10 13 3/8 9 32 6.5 208 213 517 i
PLF6-GO3 6 12 13 3/8 9 32 65 208 213 327 19 10 PLLL/4-NO4 1/ 13 13 112 9 32 6.5 208 273 547 21
PLF6-GO4 6 15 13 12 9 32 65 208 213 357 24 13 PLLS/16-NO1  5/16 7.5 146 1/8 10 32 6.5 234 307 564 14
PLF8-GO1 8 9 14.6 1/8 10 32 6.5 234 307 349 14 8 H PLL5/16-N02  5/16 9 1456 1/4 10 32 6.5 234 307 57.9 14
PLFE-602 8 105 146 14 it 32 O _ a4 _dO.F 364 o = - PLL5/16-NOZ  5/16 10 146 3/8 10 32 6.5 234 307 599 17
BEFE-503 g L e |38 10 2 S| [ | B30T [ 78 15 10 F E PLL5/16-NO4  5/16 13 146 112 10 32 6.5 234 307 62.9 21
PLF8-GO4 8 15 146 12 10 32 65 234 307 409 24 13 a

T WS R - 3 S R . : = PLL3/8-NO1  3/8 75 176 18 1 32 6.5 257 345 64.9 17
PLFI0-G02 10 91 176 14 u 32 65 257 345 384 17 9 4 PLL3/-NO2  3/8 9 A6 1/4 1 S 6.3 40 34 5a.3 17
PLF10-603 10 116 176 38 11 32 65 257 345 409 19 10 | BLES/SSHOSN N3r8 10 5 | B 1 g2 25| 2| s | G i
PLF10-G04 10 151 176 12 1 32 65 257 345 444 24 13 PLL3/8-NO4  3/8 13 176 112 1 32 6.5 57 345 713 21
PLF12-G02 12 6 21 14 12715 32 65 207 402 401 19 9 z . PLLI/2-NDZ 12 9 21 Y4 1275 32 6.5 297 402 711 19
PLF12-G03 12 105 | 21 38 | 1275 | 32 65 297 402 466 19 10 4 PLLIZNO 12 10 31 38 1215 32 65 207 402  Ti6 19
PERES & 8 AL MR s 82 B3 Jag i Gl S PLLI/2NO4 112 13 21 12 115 32 65 207 402 766 21
PLF16-G03 16 6 26 kT 15 42 3 345 415 41T 24 10

PLF16-GO4 16 147 26 1/2 15 42 8 345 415 564 24 13

49 Zhejiang Ideal Bell Technology Co.,Ltd. 50



www.ideal-bell.com

Composite Push In Fittings
AR L

PLL PT

[ fmweoo) | e | [ |} [ I [ [ | [ e | | | |
[ itemCode [wbeo| A [ 8o | c | 0o | e | F | 6 | H [ L [ sw] temcode |Tubew| A | 5 | co | © | £ |
PLL3-G01 3 5.5 11 1/8 8 312 6 17.8 233 41.7 14 PT5/32-N0L 5/32 356 28.7 11 8 16
PLL3-G02 3 6.9 11 1/4 8 3.2 6 17.8 233 432 17 PT5/32-N02 5/32 356 30.2 1 8 16
PLL4-GO1 4 5.5 113} 1/8 8 312 6 17.8 233 41.7 14 PT1/4-NO1 14 418 322 13 9 18
PLL4-G02 4 6.9 11 1/4 8 3.2 6 17.8 233 43.2 17 PT1/4-N02 1/4 418 33,7 13 9 18
PLL6-GO1 6 55 13 1/8 9 3.2 6.5 20.8 27.3 46.2 14 PT1/4-N03 1/4 418 35.7 13 9 18
PLLE-G02 6 6.9 13 1/4 9 3.2 6.5 20.8 27.3 47,6 17 PT1/4-NO4 14 418 387 13 9 18
PLL6-G03 6 8.2 13 3/8 9 3.2 6.5 20.8 273 49.9 19 PT5/16-NOL 5/16 46.8 37.4 14.6 10 20
PLL6-GO4 6 9.2 13 1/2 ] 3.2 6.5 20.8 27.3 50.9 24 PT5/16-N02 5/16 46.8 38,9 146 10 20
PLL8-GO1 8 5.5 146 1/8 10 3.2 6.5 234 30.7 54.4 14 PT5/16-N03 5/16 46.8 409 14.6 10 20
PLL8-G02 8 6.9 14,6 1/4 10 3.2 6.5 234 30.7 559 17 = PT5/16-N04 5/16 46.8 439 14.6 10 20
H . PLL8-GO3 8 8.2 146 3/8 10 312 6.5 234 30.7 58.1 19 | : ]’ PT3/8-N0O1 3/8 51.4 409 176 11 22
— T PLL8-GO4 8 9.2 14.6 1/2 10 3.2 6.5 234 30.7 59.1 24 ° ¥
F m PLL10-GO1 10 5.5 17.6 1/8 11 3.2 6.5 2557 34,5 62.8 17 - * ;T_ 2;:_:2; 3;: ;:: :j: ;:z E ;;
ol [|H ° ® K 8 .
" £ PLL10-GO2 10 6.9 17.6 1/4 11 3.2 6.5 25,7 34.5 64,4 17 % PT3/3-N04 38 54.4 413 17.6 11 2
o PLL10-GO3 10 8.2 17.6 3/8 11 3.2, 6.5 25.7 345 66.4 19 i Sw PT1/2-N02 112 58 471 21 12.75 255
PLL10-GO4 10 9.2 17.6 1/2 11 3.2 6.5 25.7 345 67.5 24 = PT1/2-N03 112 58 496 21 12.75 5.5
i PLL12-G02 12 6.9 21 1/4 12,75 3.2 6.5 29.7 40.2 69 19 PT1/2-N04 12 58 52.6 21 12.75 255
PLL12-G03 12 8.2 21 3/8 12,75 33 6.5 29.7 40.2 71.6 19
—M%ﬁng PLL12-G04 12 9.2 21 1/2 12.75 3.2 6.5 29.7 40.2 72.6 24

_itemCode | Tubeo | A | B | Co | D | E | F | G | H | | | SW_|
4 356

PT4-M5 247 11 8 16 6 3.2 M5*0.8 3.5 10
PT4-M6 4 35.6 257 11 8 16 32 M6*1 4.5 10
PT6-M5 6 41.8 28.2 13 9 18 6.5 3.2 M5*0.8 35 12
PT PT6-Mé 6 41.8 29.2 13 9 18 6.5 3.2 M6*1 4.5 12

_ Tube OD -------- ---

Tbeo| A | 8o | c | o | £ | F | 6 | n | L | w ]| 1| [ meeo| | [ | [ | [ lewe] [ |

PBOI 3 %6 287 1 8 16 6 32 18 715 10 8 | temcode JTubeo | A | 8 [ co | 0 | E | F | G | K | | | sw|
PT3-02 3 356 302 11 8 16 6 32 14 9 14 9 LA . chl | Eh il 8 1 & 32 3/8 82 19
PT4-01 4 3|6 W7 1 8 16 6 32 48 15 10 8 PT3-GO4 3 356  3l2 u 8 16 6 32 12 9.2 2
PT4-02 4 36 3,02 11 8 16 6 32 1 9 14 9 kool C 3000 N6t 1 8 16 : 32 18 55 14
PTE-01 6 48 322 13 9 18 65 32 18 15 D 8 | A TG0 - 356 282 1L 8 16 § 3.2 1/4 6.9 7
PT6-02 6 418 337 13 9 18 65 32 14 9 14 9 BTG L Gl |l 13 9 13 6.5 3.2 118 5.5 14
PT6.03 6 418 37 13 9 18 65 32 38 10 17 10 E FIE502 9 418 316 L 9 18 6.5 3.2 1/4 69 17
PT6-04 6 48 387 13 9 18 65 32 12 13 7n 13 I TS| BIE:603 o AL IR0 13 2 L 65 32 3/8 82 19
PT8-01 8 468 314 146 10 20 ol e EE T 14 8 5 ) RTGG04 L 418 349 13 g 18 6.5 3.2 12 9.2 2
PT8-02 8 468 389 146 10 20 65 32 14 9 14 2 BIEGUL g G ) IR iy 20 65 3.2 118 5.5 14
PT8-03 8 468 409 146 10 0 65 32 38 10 17 10 il i = e i 20 - 3.2 14 69 17
| A PT8-04 8 48 439 146 10 20 65 32 12 13 21 13 E = HIS:008 AN 5 <5 [ ) 20 DI 2 (0 =2 19
PT10-00 10  5L4 409 176 11 e e 8 PTE-G04 & 468 ML MG 1 20 s 32 12 92 24
ARARE PTI002 10 524 423 176 1 2 65 32 14 - 17 - PT100L 10 514 388 176 11 n 65 32 18 55 17
;r PT10-03 10 534 443 176 1l 2 65 32 38 10 17 10 PrIGGOx 10 224 WE L 11 2 65 3.2 14 69 17
. 5 | ePees 1w s4a &3 ws u 2= es 32 1w B n i PT10-603 10 534 424 176 11 2 65 32 38 82 19
. PT1202 12 58 471 21 1275 255 65 32 14 9 19 9 s B T 1% 2 3 32 12 92 24
w PT1203 12 58 496 21 1275 255 65 32 38 10 19 10 PRI A% 5 43 2L B4 6F 32 44 69 13
- H | PTI204 12 58 526 21 1275 255 65 32 12 13 21 13 BRI N T S N 2 T T G 3.2 3/8 82 18
ey M= B (TR R (R p . = | | o = PT12G04 12 58 486 21 1275 255 65 32 12 92 2
PTI6:03 16 6 5.7 26 15 30 8 42 38 10 24 13 s |l = S 0 = £l i g2 3/8 82 24
Gicen | 68 | oo | ez | om | i |5 : G R EE EG PTI6-GO4 16 6 564 26 15 30 8 a2 12 92 24
PTIE-06 16 6  6LT 26 15 30 8 a2 34 14 27 13 B0 = 2 sl | o = = : 42 3/4 10 30

5 Zhejiang Ideal Bell Technology Co.,Ltd. 52



www.ideal-bell.com

Composite Push In Fittings
EE R L

PST PST

T e T e T o
BTN T I A R N I T
PST3-01 28 215 8 6 18
PST3-02 3 43 215 1 8 16 6 32 ya 9 14 REMCode: | Tube o
PST4-01 4 28 25 1 8 16 6 3.2 18 5 10
PST4-02 4 43 25 1 8 16 6 32 14 9 14 SN = 2o ts
PST6-01 6 485 255 13 9 18 65 32 18 75 12
e - - e e - i - - s g P PST4-M6 4 98 25 1 8 16 6 32 ME'08 45 10
PST6-03 6 52 255 13 9 18 65 3.2 38 10 17 &
— . = = = = - e &5 W = o . PST6-M5 6 445 255 13 9 18 65 32 M5'08 35 12
PST8-01 8 535 307 146 10 20 65 3.2 18 75 14 N N
PST8-02 8 55 307 146 10 20 6.5 32 1/4 9 14 ESTEME B 45 S 3 8 18 6.5 32 MEn 45 =
PST8-03 8 57 307 146 10 20 65 32 38 10 17 w «
PST8-04 8 &0 07 146 10 20 65 32 12 13 21 J
. PST10-01 10 578 345 176 1 2 65 3.2 18 75 17
PST10-02 10 592 345 176 11 2 65 32 1/4 9 17 =
o PST10-03 10 612 345 176 11 2 65 32 38 10 17
p PST10-04 10 642 345 176 11 2 65 32 12 13 2
PST12-02 12 656 395 21 1275 255 65 3.2 1/4 9 19
w " PST12-03 12 681 395 21 1275 255 65 3.2 38 10 19
LA PST12-04 12 711 395 21 1275 255 65 32 12 13 21
) - PST16-02 16 82 415 2 15 30 8 42 1/4 9 24 PST
- T16- 1 79.2 47. p1 1 4.2 1 24
- e FEEE | el ] T ] P ] F e [
i PST16-04 16 822 415 2 15 30 8 42 12 13 24
pmeos 16 2 @5 % 15 % 8 42 3 w7 -ﬂ“__ﬂ“-“
PST3-GO1 408 215 6
PST3-G02 3 ©23 25 11 8 16 6 32 1/4 6.9 17
PST4-GOL 4 408 215 1 8 16 6 32 18 55 14
PST PST4-GO2 4 £23 215 11 8 16 6 32 14 6.9 17
I Y- I N I N N N AN I A PSTEGUL 6 465 255 13 9 18 65 32 18 55 u
[ temCode Imubeo | A | B | co | 0 | e | F G | n | 1 | sw PSTEG2 6 479 255 13 9 18 65 32 Y4 69 0
RN PST5/32-NO1 532 428 215 11 8 16 6 32 18 75 10
\ PST6-GO3 6 502 255 13 9 18 65 32 3/8 ) 19
) PSTSEZNO2 532 443 215 1 8 16 6 32 1/4 9 14
PSTL/ANOL /4 485 255 = 2 = e = 8 - = B PST6-G04 6 512 255 13 9 18 6.5 32 12 9.2 24
PSTL/4-NG2 1/ 50 255 13 9 18 65 32 1/4 9 14 e - PST8-GOL 8 515 307 146 10 20 65 32 1/8 55 14
PSTL/4-NO3  1/4 B2 55 13 2 18 &5 32 3/8 2 L b PST8-G02 8 53 307 146 10 20 6.5 32 1a 6.9 17
PSTL/A-NO4 1/ 53 255 13 9 18 65 32 12 13 21
PST8-G03 8 552 307 146 10 20 6.5 32 38 8.2 19
PSTS/16NOL  5/16 535 307 146 10 20 65 32 18 75 14 w <
PSTS/IGNG2 816 55 g - = e e 14 - 1 JLEv PST8-G04 8 562 307 146 10 20 65 32 112 9.2 24
PST5/16-N03  5/16 57 307 146 10 20 65 32 3/8 10 17 W PST10-G01 10 557 345 176 11 2 65 32 8 55 17
PSTS/16-NO4  5/16 60 30.7 14.6 10 20 6.5 32 12 13 21 = e PST10-G02 10 583 345 176 1 22 6.5 32 14 6.9 17
PST3/8-NOL  3/8 578 345 176 u 2 65 32 18 75 17
PST10-G03 10 613 345 176 11 2 65 32 3/8 82 19
PST3/B-NO2  3/8 502 345 176 1 2 65 32 14 9 17
PST3/8NO3  3/8 612 345 176 11 2 65 32 3/8 10 17 S BA M3 NS 1 22 &3 32 W 2 24
PST3/8-NO4  3/8 642 345 176 1 2 65 32 112 13 21 PST12-G02 12 635 395 21 1275 255 65 32 14 6.9 19
ESTH2:HO2 e ) oo G (9,0 2L [T5 ) a5 ) FNCeD <! 14 : 19 PSTI2-G03 12 661 395 21 1275 255 65 32 3/8 8.2 19
PSTL/2NO3 12 681 395 21 1275 255 65 32 38 10 19
PSTI2.G04 12 671 395 21 1275 255 65 32 12 9.2 24
PSTL/2-NO4 12 L1 395 21 1275 255 65 32 12 13 21
PST16-G03 16 769 415 2 15 30 8 42 3/8 9.2 24
PST16-G04 16 9 415 2% 15 30 8 42 12 10 24
PST16-G06 16 792 415 26 15 30 8 42 3/4 1 30

53 Zhejiang Ideal Bell Technology Co.,Ltd. 54



www.ideal-bell.com

Composite Push In Fittings
AR L

PTF PTF

T weo| | [ T e |  weo] | T
o] & | 5 [co | o [ E | F [ e [ n | 1 [ ] emoome [Tveo] % | & [ co | > | & [ 7 | o

PTF3-01 3 35.6 28.7 11 8 16 6 32 1/8 9.5 12 11.5 PTF3-G01 3 35.6 27.2 11 8 16 6 32

PTF3-02 3 356 30.2 11 8 16 6 32 1/4 11 17 13 PTF3-G02 3 35.6 28.2 11 8 16 6 3.2

PTF4-01 4 35.6 28.7 11 8 16 6 3.2 1/8 9.5 12 115 PTF4-G01 4 35.6 27.2 11 8 16 6 32

PTF4-02 4 356 30.2 11 8 16 6 3.2 1/4 11 17 13 PTF4-G02 4 356 28.2 11 8 16 6 3.2

PTF6-01 6 41.8 312 13 9 18 6.5 32 1/8 9.5 12 10.5 PTF6-GO1 6 41.8 29.7 13 9 18 6.5 32

PTF6-02 6 418 337 13 9 18 6.5 32 1/4 11 17 13 PTF6-G02 6 41,8 317 13 9 18 6.5 3.7

PTF6-03 6 41.8 34.7 13 9 18 6.5 3.2 3/8 12 15 14 PTF6-G03 6 418 327 13 9 18 6.5 32

PTF6-04 6 41.8 311 13 9 18 6.5 3.2 1/2 15 24 17 . PTF6-G04 6 418 35.7 13 9 18 6.5 3.2

PTF8-01 8 46.8 364 14.6 10 20 6.5 32 1/8 9.5 14 10.5 PTF8-G01 8 46.8 349 14.6 10 20 6.5 3.2

PTF8-02 8 46,8 384 14.6 10 20 6.5 32 1/4 11 17 12,5 PTF8-G02 8 46,8 364 14.6 10 20 6.5 3.2 1/4 9 17 10.5
PTF8-03 8 46.8 39.9 146 10 20 6.5 32 3/8 12 19 14 PTF8-GO3 8 46.8 379 14.6 10 20 6.5 3.2 3/8 10 19 12
PTF8-04 8 46.8 429 14.6 10 20 6.5 3.2 1/2 15 24 17 PTF8-G04 8 46.8 40.9 146 10 20 6.5 3.2 1/2 13 24 15
PTF10-01 10 51.4 35.4 17.6 11 22 6.5 3.2 1/8 9.5 17 6.1 PTF10-GO1 10 51.4 354 17.6 13" 22 6.5 372 1/8 8 17 6.1
PTF10-02 10 524 40.4 17.6 11 22 6.5 32 1/4 11 17 111 i o PTF10-G02 10 524 38.4 17.6 11 22 6.5 32 1/4 9 17 9.1
PTF10-03 10 534 429 176 11 22 6.5 3.2 3/8 12 19 136 PTF10-G03 10 53.4 409 176 11 22 6.5 3.2 3/8 10 19 116
PTF10-04 10 54.4 46.4 17.6 11 22 6.5 3.2 1/2 15 24 17.1 o —— £ PTF10-G04 10 54.4 44.4 176 11 22 6.5 3.2 1/2 13 24 15.1
PTF12-02 12 58 40.1 21 12.75 25.5 6.5 3.2 1/4 11 19 6 )./_a/ 7\ J PTF12-G02 12 58 40.1 21 12.75 255 6.5 3.2 1/4 9 19 6

PTF12-03 12 58 46.6 2 12,75 25.5 6.5 3.2 3/8 12 19 12,5 % o PTF12-G03 12 58 46.6 21 12,75 255 6.5 32 3/8 10 19 10.5
PTF12-04 12 58 511 21 12.75 255 6.5 32 1/2 15 24 17 % PTF12-G04 12 58 51.1 21 12.75 255 6.5 3.2 1/2 13 24 15
PTF16-03 16 69 47.7 26 15 30 8 4.2 3/8 12 24 6 8 o PTF16-G03 16 69 47.7 26 15 30 8 4.2 3/8 10 24 6

PTF16-04 16 69 58.4 26 15 30 8 4.2 1/2 15 24 16.7 ~—  PTF16-G04 16 69 56.4 26 15 30 8 4.2 1/2 13 24 14.7

PTF PWT
1]

| Jmeoo| [ 1 ] b [ [eer |
-:—----:-m

“ﬂﬂﬂ-ﬂﬂ---

PWT4-01 1 109 32 118 272 s
B R S I E i PWT4-02 4 109 32 433 11 287 1/4 9 14
PTF5/32-N02  5/32 35.6 30.2 11 8 16 6 3.2 1/4 11 17 13 PWT6-01 6 12.9 32 428 132 42.8 1/8 7.5 12
PTFl/4NO1  1/4 418 312 13 9 18 65 32 18 95 12 105 PWT6-02 6 129 32 442 132 315 1/4 9 14
PTFl/4N02  1/4 418 337 13 9 18 65 32 1/ u 17 13 RAIe03 & i 2 o2 2 i 38 i &
PWT6-04 6 129 3.2 492 132 365 112 13 21
PTF1/4NO3  1/4 418 347 13 9 18 65 32 38 12 19 14 e > - = = _— R - - -
PTF1/4-N04  1/4 41.8 317 13 9 18 6.5 3.2 172 15 24 17 PWT8-02 8 14.7 3.2 53 14.6 34,7 1/4 9 14
i A PTF5/16-NOL  5/16 46.8 36.4 14.6 10 20 65 32 1/8 9.5 14 105 PWT8-03 8 147 32 55 14.6 36.7 3/8 10 17
PTFS/16N02 516 468 384 146 10 20 65 32 14 1 17 125 RUTS-04 8 117 2 28 145 i 2 13 2z
E_ LY PTF5/16N03 516 468 399 146 10 20 65 32 3B 12 19 14 L2 Aibia 1 ® =2 34 LA o =2 2 1
I i : : - - oy PWT10-02 10 18 32 563 17.6 353 1/4 9 17
I \J|e PTFS/16-NO4 516 468 429 146 10 20 65 32 12 15 2 17 1 [T PWT10-03 10 18 12 583 176 373 38 10 17
% : ® prF3/sN0l 38 514 354 176 11 2 65 32 18 95 11 61 E PWT10-04 10 18 32 613 176 403 12 13 2
¢ = PTF3/8-N02  3/8 524 404 176 11 2 65 32 14 11 17 11 ‘ EWIEZ0E 1= 2 22 =4 2t s 14 = L
L' ji_ r PWT12-03 12 1 32 64.7 21 433 38 10 19
HA BRI B a0 L43 AL i 2 &2 2 208 22 2 his S PWT12-04 12 21 32 67.7 21 46.3 1/2 13 21
PTF3/8-NO4  3/8 544 464 176 11 2 65 32 12 15 % 171 A 9 PWT16-02 16 2% 42 388 % 15 14 9 24
PTFI/2N02 12 58 401 21 1275 255 65 32 14 1 19 6 w PWT16-03 16 2 42 69.8 26 a7 3/8 10 24
PTFI/2NO3 12 58 466 21 1275 255 65 32 38 12 19 125 1 POT1E04 16 3 A2 2.8 26 50 12 13 2
PTFL/2-NO4  1/2 58 511 21 1275 | 355 65 32 | 12 15 2 17 PWT16-06 16 2 42 738 26 51 3/4 14 27

55 Zhejiang Ideal Bell Technology Co.,Ltd. 56



www.ideal-bell.com

Composite Push In Fittings
EE R L

PWT PH

| |mweoo | [ | [ 0 [ s ] | | Twbeoo | | | | | ser | |
¥ Item Code Tube ¢ (€] F

ftem Cod il A 0 3 H L temCode | _Tubeo | Ao | B | _C | D | _E__| _F | _SW_
[ femCode [ Tueo | Ae [ 8 [ wu [ 1 | 13 [ 1 [ H [ sw | v - = = e - s g 7
PWT5/32-N01 5/32 109 32 18 1 272 18 75 10 B4 03 4 11 246 265 307 105 14 15
PWT5/32-N02 5/32 109 32 433 1 28.7 174 9 14 PHG-01 6 13 245 245 15 7.8 18 12
PWT1/4-N01 1/4 12.9 32 428 132 4238 1/8 15 12 PH6-02 6 13 2:-2 26.6 20.7 108 1?‘ 15
PHE-03 6 13 286 335 205 117 3/8 19
PWT1/4-N02 1/4 129 3.2 44.2 132 315 1/4 9 14 PHE-01 P 146 958 245 15 78 18 12
PWT1/4-N03 1/4 129 32 46.2 132 335 3/8 10 17 PH8-02 8 14.6 215 266 20.7 10.8 1/4 15
PWT1/4-NO4 14 129 32 492 132 6.5 12 13 21 PH8-03 8 146 302 335 205 117 3/8 19
PWTS/16-NOL  5/16 147 32 517 146 334 s 7.5 14 PHE-04 8 21 363 40.2 254 157 12 24
PH10-01 10 176 29.2 245 15 7.8 1/8 12
PWIS/I6-R02 516 TET 32 A3 136 AT 14 8 1 PH10-02 10 176 29.2 266 207 108 1/4 15
PWT5/16-N03 5/16 14.7 32 55 146 36.7 3/8 10 17 PH10-03 10 176 30.7 335 205 107 3/8 19
PWT5/16-N04 5/16 14,7 32 58 14,6 39,7 1/2 13 21 PH10-04 10 21 365 40.2 254 15.7 12 24
PH12-02 12 21 336 266 207 108 14 12
RWT/5-N01 ol 3 A 176 B 18 i L/ PH12-03 12 21 345 335 205 1.7 38 19
PWT3/8-N02 3/8 3.2 56.3 176 353 1/4 9 17 PH12-04 12 21 36.5 40.2 25.4 15.7 1/2 24

PWT3/8-N03 38
PWT3/8-N04 3/8
PWT1/2-N02 12
PWT1/2-N03 1/2
PWT1/2-N04 12

3.2 62.7 21 413 1/4 9 19

[ [ Twbeoo | [ [ | | | wr | |
| ftemCode [ Tubeo [ A® [ B [ ¢ [ 0o [ E [ F | sw |
PH5/32-N01 5/32 1 23 245 15 7.8 18 12
PH5/32-N02 5/32 1 246 266 207 10.5 1/4
PH1/4-NO1 1/4 13 245 245 15 7.8 1/8
PH1/4-N02 1/4 13 262 266 207 10.8 1/4
PH1/4-NO3 1/4 13 286 35 205 17 3/8
PH5/16-N01 5/16 14.6 25.8 245 15 7.8 1/8

18
18
18
18
21
21
21
| Jmeeoof ] [ 1 0 | [ ] ]
| _temcode | Tubeo | Ao | 8] L sw ]

PWT4-MS 4 10.9 32 3138 1 232 35 M5*0.8 10 PH5/16-N02 5/16 146 215 266 20.7 108 /4
PWT4-M6 4 10.9 32 388 1 24.2 45 M6"1 10 PH5/16-N03 5/16 14.6 302 335 205 17 38
PWT6-M5 6 129 32 387 132 26 35 M5%0.8 12 PHS5/16-N04 5/16 21 365 402 254 15.7 1/2
PWT6-ME 6 129 32 397 132 21 45 M6*1 12 PH3/8-NOL 3/8 176 29.2 24.5 15 7.8 /8

PH3/8-N02 3/8 176 292 266 20.7 10.8 1/4
PH3/8-NO3 3/8 17.6 30.7 335 205 11T 3/8
PH3/8-N04 38 21 365 402 25.4 15.7 1/2
PH1/2-N02 12 21 336 26.6 207 10.8 1/4
PH1/2-N03 12 21 345 335 20,5 L7 3/8
PH1/2-N04 1/2 21 36.5 40.2 25.4 15.F 1/2

T Tweo| [ e T -
emcoie [ wes | e | 5 | 0 | o | 5 | | _n | s

15
12
15
19
12
15
19
24
12
15
19
24
12
19
24
| fmbeo | [ [ ] ] ] eee [ ]
e | c ]| o | E_ T
8
8
8
8

PWT4-G01 4 10.9 32 39.8 11 25.2 55 1/8 14 -
PWT4-G02 4 109 32 413 u 267 69 1/4 17 c
PWT6-GO1 6 129 3.2 40.7 132 28 55 18 14 PH4-M5 4 1 27.1 199 122 35 M5
PWT6-G02 6 12.9 3.2 42.1 132 29.4 6.9 1/4 17 PH4-M6 4 11 211 20.9 13.2 4.5 M6
PWT6-GO3 6 12.9 32 44.4 132 317 8.2 38 19 PHE-M5 6 13 24.5 19.9 122 3.5 MS
PWT6-G04 6 129 32 454 13.2 32.7 9.2 12 24 il : & o - = - i
PH4-GO1 4 11 23 24 15 55 1/8 12
PWTS-G01 8 14.7 32 495 146 312 55 18 14 Bhid. i 3 = — 57,0 e 5 7 i
PWTB-G02 8 14.7 32 51 1456 327 6.9 1/a 17 BHE&0 i 13 245 31 i se 18 2
PWT8-G03 8 14.7 332 53.2 14.6 349 8.2 3/8 19 PH6-G02 6 13 26.2 27.1 20.7 6.9 1/4 15
PWTS-G04 8 14.7 32 542 146 359 9.2 12 24 PH6-G03 6 13 28,6 317 20,5 8.2 3/8 19
PWT10-GO1 10 18 32 528 176 318 55 18 17 PHB-GO1 8 146 258 24 15 55 18 12
PWT10-G02 10 18 32 54.4 17.6 34 6.9 1/4 17 PHg-G02 8 145 215 211 207 6.9 /4 15
PWT10-G03 10 18 3.2 56.4 176 354 82 3/8 19 T#‘ kb 003 & 145 L 2l ah a2 L A
PHB-GO4 8 21 36,5 35 25.4 9.2 12 24
PWT10-G04 10 18 32 57.5 176 365 92 12 24 S 10 - — - = o i -
EWFIZGI2 12 a 32 608 2L 352 &9 L 2 PH10-G02 10 176 292 271 207 69 1/4 15
PWT12-G03 12 2 32 63.2 21 418 82 3/8 19 PH10-G03 10 176 30.7 3.7 205 8.2 3/8 19
PWT12-G04 12 21 32 64.2 21 42.8 9.2 12 24 PH10-G04 10 21 365 35 25.4 9.2 112 24
PWT16-G03 16 26 42 67.5 26 44.7 9.2 3/8 24 PH12-G02 12 21 336 211 207 69 1/4 12
e o % 7 e %5 e % 12 o PH12-G03 12 21 345 3L7 205 82 3/8 19
PWT16-G06 16 26 42 69.8 26 41 14 3/4 30 EHIZG08 2 2k 365 a3 224 2l e 24

57 Zhejiang Ideal Bell Technology Co.,Ltd. 58



www.ideal-bell.com

Composite Push In Fittings
AR L

PHF PHF
----------

| fueoo) ] [ [ [ e ]  Jewe | |
e | c | 0

PHF4-M5 249 122 M5*0.8 s M5'0.8 7 :
PHF4-M6 4 11 21 25.9 12.2 45 M6*1 8 M6*1 7 PHF4-G02 4 11 246 32 19.2 6.9 1/4 17 1/4 9
PHF6-M5 6 13 26 249 122 35 M58 8 M5*0.8 7 PHF6-GOL 6 13 u5 315 15 55 1/8 12 e 8
e - - - = = = e, 5 Mg m PHF6-G02 6 13 262 32 189 6.9 1/4 17 14 9
PHF6-G03 6 13 286 411 205 8.2 3/8 19 3/8 10
PHF8-GOL 8 146 25.8 315 15 55 18 12 18 8
P H F PHF8-G02 8 146 21.5 32 189 6.9 1/4 17 1/4 9
| seod T SPT PHF8-G03 8 146 302 411 205 8.2 3/8 19 3/8 10
e L e e e —
PHFA4-01 18 18 PHF10-GO1 10 17.6 292 3L5 15 55 1/8 12 18 8
PHE4-02 4 1 2456 34 192 9 1/4 17 1/4 1 PHF10-G02 10 17.6 292 2 189 6.9 1/4 17 14 9
PHF6-01 6 13 245 33 15 78 18 12 18 9.5 PHF10-G03 10 17.6 307 411 205 8.2 3/8 19 3/8 10
PHF6-02 6 13 262 34 18.9 9 1/4 17 /4 11 PHF10-G04 10 21 365 47.3 227 9.2 1/2 2 12 13
PHF6-03 6 13 286 43.1 205 1.7 3/8 19 3/8 12 — = o = = = &% w - A 5
PHF8-01 8 146 25.8 3 15 78 18 12 18 95
PHF12-G03 12 7n 345 411 205 8.2 3/8 19 3/8 10
PHF8-02 8 146 275 34 18.9 9 14 17 14 1
PHF8-03 8 146 302 431 205 117 38 19 3/8 12 ERELEC0 & e 282 a3 22 22 M2 24 L &
B PHF8-04 8 21 36.5 493 22,7 13 1/2 24 1/2 15
K */sw PHF10-01 10 176 292 33 15 78 18 12 18 9.5
PHF10-02 10 17.6 29.2 34 18.9 9 1/4 17 1/4 11
g X |[3< PHF10-03 10 176 307 431 205 117 3/8 19 3/8 12
\ | PHF10-04 10 21 365 493 2.7 13 12 24 12 15
& ..,l e - PHF12-02 12 21 336 34 189 9 1/4 12 1/4 1 PMF
PHF12-03 12 21 345 43.1 20.5 11.7 3/8 19 3/8 12
PHFI2O4 12 2 %5 43 27 1B 12 u  p 55 | [ mkeoo | [ mer | | wa | | | ]
[ temcode | Tukeog [ A | B | ¢ [ o [ L | swi | sw2 |
PMF3-01 3 M12°1 1/8 9.5 45 26 14 14
PMF3-02 3 M12*1 1/4 11 4.5 215 14 17
PHF PMF4-01 4 M12*1 18 9.5 45 26 14 14
PMF4-02 4 M12*1 1/4 11 4.5 275 14 7
PMF6-01 6 M14*1 18 95 6 269 17 17
PMF6-02 6 M14*1 1/4 1 6 299 17 17
PHF5/32-N01  5/32 1 23 33 15 7.8 18 12 18 9.5
PMF6-03 6 M14*1 3/8 12 6 30.9 17 19
PHF5/32:N02  5/32 1 246 34 19.2 3 1/4 17 1/4 1 A = . e o 5 6 330 17 =
PHF1/4-NO1 1/4 13 245 13 15 78 1/8 12 1/8 95 PMF8-01 8 Mi6*1 18 95 6 272 19 7
PHF1/4-N02 1/4 13 26.2 34 18.9 9 1/4 17 1/4 11 PMF8-02 8 M16*1 1/4 11 6 29.2 19 17
PHF1/4-N03  1/4 13 286 431 205 117 3/8 19 3/8 12 i PMF8-03 8 M16*1 3/8 12 6 312 19 19
PHF5/16-N01 5/16 14.6 25.8 33 15 7.8 1/8 12 1/8 9.5 T PMF8-04 8 M16*1 1/2 15 6 34.2 19 24
PHF5/16-N02  5/16 146 275 34 189 9 14 17 1/4 11 B PMF10-01 10 M18*1 1/8 9.5 10.5 30.6 2 19
5 B PHF5/16-NO3  5/16 146 302 431 205 117 38 19 38 12 S it . "”8:1 1A = e i - ¢
- ksw PHF5/16:-N04  5/16 21 365 493 2.7 13 12 24 112 15 s/ CHOT = i 28 L Ll = 2 0
PMF10-04 10 M18*1 1/2 15 10.5 38.6 21 24
] = PHF3/8-N01 3/8 17.6 292 33 15 78 1/8 12 1/8 95 PMF12-02 12 M22*1 1/4 1 12 333 24 24
o ( } PHF3/8-N02 3/ 176 292 34 189 9 14 7 14 1 —— - pem—— 3y _— P e = o
N ) L PHF3/8-N03  3/8 17.6 30.7 431 205 1.7 38 19 38 12 PMF12-04 12 M22*1 12 15 12 39.8 2 2
"’[ | | [\ PHF3/8-N04  3/8 21 365 493 2.7 13 12 24 112 15
PHF1/2-N02 12 21 336 34 189 9 1/4 12 1/4 1
PHF1/2N03 172 21 345 431 205 17 3/8 19 38 12
PHF1/2-N04 12 21 365 493 27 13 1/2 24 1/2 15

59 Zhejiang Ideal Bell Technology Co.,Ltd. 60



www.ideal-bell.com

Composite Push In Fittings
AR L

PMF PMM

[ Tmew [ T wr T Twe [T T [ [ tweop [ mmme | [ |
PMF5/32-NOL 5/32 M12*1 ys 45 26 14 14 PMM5/32 5/32 & 2 i
PMF5/32-N02 5/32 M12*1 y4 11 45 215 14 17 ? .
PMF1/4-NO1 1/4 M14*1 1/8 95 6 269 17 17 w.". \,' dleaal i 13 s ek T
PMFL/4-N02 14 M14*1 4 1 6 299 17 17 il i L 2/18 1 Sed LG &
PMF1/4-N03 14 M14*1 3/8 12 6 309 17 19 ,. ‘. .‘ '| PMM3/8 3/8 18 40.2 M18x1 2
PMF1/4-N04 14 M14*1 12 15 6 339 17 24 PMM1/2 12 22 46 M22x1 24

A PMF5/16-NO1 5/16 M16*1 18 9.5 6 27.2 19 17 . -
PMF5/16-N02 5/16 M16"1 1/4 1 6 29.2 18 17
PMF5/16-N03 5/16 MI16*1 3/8 12 6 312 19 19
PMF5/16-N04 5/16 M16*1 12 15 6 342 19 2
sw1 PMF3/8-NO1 3/8 M18*1 18 9.5 105 30.6 21 19

= PMF3/8-N02 38 M18*1 1/a 1 105 316 21 19

PMF3/8-N03 3/8 M18*1 3/8 12 105 351 21 19
_— p PMF3/8-N04 3/8 M18*1 12 15 105 386 21 2 PUC
PMF1/2-N02 112 M22*1 14 1n 12 333 24 24
o] PMFLZNOG 12 w2l 3 1 " 343 2 2 [ " S A A

PMELZNGS 12 w2 1 15 1 98 % 2 _

. | 109
PUCA 4 109 33.5
H — PUCE 6 129 346
PMF = PUCE 8 147 39
PUC10 10 18 433
| | tweoo | | e | | max | [ | ] = & pUCI2 2 2 463
| ttemCode [ Twbeo [ A | B | c [ b [ L [ swi [ sw2 | PUCL6 16 % 5.6
PMF3-GO1 3 M12*1 8 8 45 245 14 14
PMF3-G02 3 M12°1 14 9 45 255 14 17
PMF4-GO1 4 MI12°1 18 8 45 245 14 14
PMF4-G02 4 M12'1 4 g 45 255 14 17
PMF6-GO1 6 M14*1 8 8 6 254 17 17
PMF6-G02 6 M14*1 U4 9 6 279 17 17 PUC
PMF6-G04 6 M14°1 12 13 6 319 17 24
> PMFa-GOL s w1l 8 6 n1 10 17 _
PMF8-G02 8 M16*1 1/4 9 6 27.2 19 17 L PUC5/32 10.9
PMF8-G03 8 M16*1 3/8 10 6 292 19 19 N pr— 1 T e
PMF8-GO4 8 M16*1 12 13 6 202 19 2
sw1 PMF10-GO1 10 Mi18*1 s 8 105 291 2 19 < E PUCS/16 5/16 147 33
= PMF10-G02 10 M18*1 ya 9 105 296 21 19 I PUC3/8 3/8 18 433
PMF10-G03 10 M18*1 38 10 10.5 3.1 21 19 PUCL/2 12 21 463
-~ b PMF10-G04 10 M18*1 12 13 105 366 21 2
PMF12-G02 12 M22°1 1/4 9 12 313 24 2
d PMF12-G03 12 M22*1 38 10 12 23 24 2
PMF12-G04 12 M22*1 12 13 12 378 24 2

PMM PUL

I T T
T T U S B

_— be OD _—_—_—
_-_--!._

PMM3 2 M12x1 14 BUL3 33 178

PMM4 4 13 2 M12x1 14 PUL4 4 233 17.8 11 8 3.2 6

S = - - T - - PULE 6 27.3 208 13 9 32 65
= @ PUL8 8 30.7 234 14.6 10 3.2 6.5

PMM8 8 15 364 Mi6x1 19 PULLO 10 345 257 1756 11 32 65

PMM10 10 18 40.2 Misx1 21 PUL12 12 40.2 29.7 21 12,75 32 65

PMM12 12 2 6 M22x1 24 PULLE 16 415 345 26 15 42 8

61 Zhejiang Ideal Bell Technology Co.,Ltd. 62



Composite Push In Fittings ——
2] SAPR RS 8

PUL PY
e | | | [ [ ) T

= tem Code L5 | co | o | Eo | Fo .
1, ﬂ PUL5/32 5/32 233 17.8 1 8 32 6 8 PY5/32 5/32
g | | “ a PUL1/4 1/4 21.3 20.8 13 9 32 6.5 Il PY1/4 1/4 129 32 36 13.2 233
® 3 PUL5/16 5/16 30.7 234 14.6 10 32 65 PY5/16 5/16 147 32 4438 146 265
] A
PUL3/8 3/8 345 257 17.6 1 32 6.5 JRRDE PY3/8 3/8 18 32 485 176 275
TUBE
D PUL1/2 12 402 207 pil 12.75 32 6.5 5 PYL/2 12 27 12 55.1 21 137
[ wew [ | [ [
(e | e | e | o | u | o

PUT PG4-3 4 3 109 109 335
PG6-4 6 4 129 10.9 35.6
[ Jmbeoo| [ | | [ 0 | | T 2 . h o o
Tuep | A B | Co | D | E_| Fo | Go | ' ' '
PUT3 3 356 215 1 8 16 6 32 [ PG10-8 10 8 18 147 419
PUT4 4 35.6 215 11 8 16 6.5 32 PG12-10 12 10 21 18 46
PUT6 6 418 255 13 9 18 65 32 P - i o e e

PUT8 8 46.8 30.7 146 10 20 6.5 3.2

PUTI10 10 514 345 17.6 1 2 6.5 32

PUT16 16 69 45 26 15 30 8

beoo| [ |} ] [ ] . PG1/45/32 ” = 128 109 6

emcode | Tubeo |

m

| ¢ G < g | 3 ml PG5/16-1/4 5/16 1/4 147 129 385
# PUTS/32 532 356 215 n 8 16 65 32 | il
" _ & PUTL/4 14 418 255 13 9 18 65 32 Tuee'1 PG3/8-1/4 3/8 1/4 18 17 419
- v . ||'[ = PUTS/I6 516 468 307 146 10 20 65 32 PG3/8-5/16 3/8 5/16 21 18 46
© I” PUT3/8 38 514 345 176 11 » 65 32 PG1/2-3/8 12 s = e o
A PUT1/2 12 58 395 21 1275 255 65 32

PGT

[ lmeeobalmbeoda| | | [
[emcode | Tube1o [Tubezo | A | 5 | o | o | £ | Fo | Go
4 i3 8 I 6 32

PGT43 356 25 1 6
PGT64 6 4 418 25 13 9 18 65 32
PY PGT8-6 8 5 468 307 146 10 20 65 32
. [ | mubeon PGT10-6 10 6 514 34.1 176 1 2 65 32
— PGT12-10 12 10 58 393 2 1275 255 65 32
£ 4 12 2 = i 2 PGT16-12 16 12 69 47.1 2% 15 30 8 42
PY6 6 12.9 32 36 13.2 233

" ; — — | Jweoafmweora) | [ [ ] [ [
PY10 10 18 3.2 48.5 17.6 275
2 2 a1 NN e e “?F???

PY16 16 26 42 59.6 26 36.8 Ye EOT/&5/52 L
A PGT5/16-1/4 5/16 1/4 46.8 30.7 146 10 20 6.5 32
© PGT3/8-1/4 3/8 1/4 514 34.1 17.6 11 2 6.5 32
“rusd A VTUBE 1 PGT3/8-5/16 3/8 5/16 514 34.1 176 11 22 6.5 3.2
PGT1/2-3/8 12 * 3/8 58 39.3 21 1275 25.5 6.5 3.2

63 Zhejiang Ideal Bell Technology Co.,Ltd. 64



www.ideal-bell.com

Composite Push In Fittings
AR L

PW

PW6-4 6 4 12.9 312 35.5 13.2 20

PGJ

T e |

PGJ4-3 3 105 4 195 325
PW8-6 B 6 14.7 3.2 44.8 14.6 233 PGJ6-4 4 10.5 6 19.5
PW10-8 10 8 18 32 48.1 176 2.5 PGJB4 4 105 8 20
PW12-10 12 10 21 32 54.9 21 275 PGJB-6 6 125 8 20
PW16-12 16 12 26 42 50.2 26 337 PGJ10-6 6 125 10 24
e PGJ10-8 8 145 10 2%
‘ PGJ12-6 6 125 12 275
PGJ12-8 8 145 12 275
e T T I S S S B . Porz 10 2 173 2 zrs
e | mweio | Tweze | Ae | 5 | © | © | 5 IR £ 258 = =
|
Pwa/s-1/4 10 8 18 32 48.1 17.6 265 PGJ1/4-5/32 5/32 105 6 195 325
PW3/8-5/16 12 10 21 3.2 54.9 21 215 PGJ5/16-5/32 5/32 10.5 8 20 35.5
PW1/2-3/8 16 12 % 42 592 26 337 - PGJS/16-1/4 14 125 8 20 36.4
TUBE 2 368 o PGJ3/8-1/4 14 125 10 24 38.4
PGJ3/8-5/16 5/16 145 10 2% 392
PGJ1/2-1/4 1/4 125 12 275 43.5
B PGJ1/2-5/16 5/16 145 12 275 4
PGJ1/2-3/8 3/8 175 1 275 481
PGJ A " N I N
[ temCode | Tubeo | Ao | B0 | . Cc | L | = ” 550 DETE T DT : 55 = 7 e
PGJ3 3 105 3 195 36 : = -
= " 1.5 " — 35 PLIG 6 27.3 208 13 9 32 65 6 195 373
PGJ6 6 125 6 195 364 PLIE 8 307 234 146 10 32 65 8 20 401
/ PGJ8 8 145 8 20 38.7 PLJ10 10 345 25.7 176 u 32 6.5 10 2 46
B0 10 A7 10 28 ok PLJ12 12 40.2 29.7 21 12.75 3.2 6.5 12 275 53.3
PGJ12 12 195 12 275 51
PGJ16 16 25 16 28 55 PLJ16 16 41.5 345 26 15 42 8 16 30 60.7
A
| omee | 1 [ [ ] 5
[ remcee | e | Ao | 50 | ¢ | | _co | o o | Fo [ Go | H
~ ol S s & i 28 PLJ5/32 532 233 178 1 8 32 6 4 195 345
| Shyruee PGJ1/4 1/4 125 6 19.5 364 PLIL/4 1/4 273 208 13 9 32 65 6 19.5 373
PGJ5/16 5/16 145 8 20 38.7
PLI5/16 5/16 30.7 234 146 10 32 65 8 20 40.1
PGJ3/8 38 175 10 % 45,1 =
. PLI3/8 38 345 2.7 176 1 32 65 10 24 46
PGJ1/2 12 195 12 275 51
S — PLI1/2 1/2 402 29.7 21 12.75 32 6.5 12 275 533
| mweeoo [ 0 [ 7 ] ]
I~

o | wee | ae | s | <
4

| fweew) | [ ] [ P P b
PGJ3-4 105 3 195 36
— . o p 195 364 temcode | Tubeo | A | 8 | co [ 0 | €0 | Fo | Go [ # | L |
s z o z o e PLJ4-3 3 233 178 11 8 32 6 4 195 345
PLJ6-4 4 233 17.8 11 8 B2 6 6 19.5 345
PGJ8-10 10 175 8 20 41.1
- PLIS-6 6 273 208 13 9 32 6.5 8 20 376
EaiicI2 i 18. A 2 2 PLJ10-8 8 0.7 234 146 10 32 65 10 24 4.1
PGJ12-16 16 25 12 215 55 PLJ12-10 10 345 257 176 11 32 65 12 275 495
PLJ16-12 12 40.2 29.7 21 12.75 i ) 6.5 16 28 53.1

65

Zhejiang Ideal Bell Technology Co.,Ltd. 66



Composite Push In Fittings
AR L

PLJ | [
L

(g]
<

PLIL/4-5/22  5/32 233 178 11 8 32 6 6 19.5 345
PLI5/16-1/4  1/4 273 208 13 9 32 65 8 20 376
PLI3/85/16  5/16 307 n4 146 10 32 65 10 2 44.1
PLJ1/2-3/8 3/8 34.5 25.7 17.6 11 3.2 6.5 12 215 49.5
A
B
TUBE/ T -
< [
W, -
x
—

PYJ

I % N I O
B R T O

PYJ4 4 10.9 337 4 513 11 36.7 19.5
PYJ6 6 129 3.2 6 51.7 13.2 39.5 195
PYJ8 8 147 3.2 8 615 14.6 43.2 20
PYJ10 10 18 3.2 10 68.4 17.6 47.8 24
PYJ12 12 21 3.2 12 78.5 21 57.3 275
PYJ16 16 26 4.2 16 82,9 26 60.5 28

e

IS T I N N T BT B T
PYJ5/32 5/32 10.9 3.2 4 513 11 36.7 195
PYJ1/4 1/4 129 3.2 [ 51.7 13.2 39.5 19.5
b PYJ5/16 5/16 147 3.2 8 61.5 146 432 20
B PYJ3/8 3/8 18 3.2 10 68.4 176 478 24
= PYJ1/2 1/2 21 32 12 785 21 51.3 215

67

Speed Controllers
EREL

Applications/ FZF

* Speed controllers used to control the speed of the air
pressure actuator

BRR AT SARIT ot iR,

* Mainly installed in the air actuator.

EEREENRITRA Lo

Features/ 451E

* Accurate regulation of an optimal airflow rate for precise motion control.
FREESnERERE, NIRRERNSEE,

* Tube direction and angle air controlled according to piping as the main body can
rotate up to 360 ° after assemb!

ly.,
FESEARTHERE 360 B, ﬂﬂéﬁE&iﬁﬁ)ﬂE%ﬂﬁEﬁﬁe

* Easy speed control with drive tools in limited and crowded spaces.

HERRABNZEA, ET Ak TREHEE.

* Miniaturized products occupy small space attaching to devices.
NEUERY=a, FECEIEE ENSHERIESIE,

* Control-In and Control-Out are available for all size.

P R & eI AsE S R AMHS 2R,

Zhejiang Ideal Bell Technology Co.,Ltd. 68




www.ideal-bell.com

Speed Controllers
VAR R

—_— s 5 (® v-seal(NER)
Specifications/ AR O Sne B (TR JSC
A T e T e T
T —— Pa—— G, e [ waee | v | 5 | e [ | o | | ¢ | o
liquids)/ =5 (FEERHEMSEmRMRE) HRR @) |11 Il JSC5/32-N0L 5/32 11 23 43 38.9 15 7.8 18 12
- : Release Sleeve(POM)
* Working Pressure T :0-150psi/0-9.9kgf/ @ Body(Brass) O gior G JSCsfsaNez 532 1 246 46 309 207 105 4 2
cm? (0-990Kpa) Btk (5) i , JSC1/4-N01 1/4 13 245 43 389 15 7.8 1/8 12
* Working Temperature TAESBEE :0-60°C i 3 JSC1/4-ND2 1/4 13 262 46 30.9 20.7 108 14 12
© O-Ring(NBR) » LW JSC1/4-N03 1/4 13 28.6 52 445 205 117 3/8 19
* Negative Pressure fAE :-100Kpa(10Torr) OBE (THIRE) B WE JSCS,ZIG — 5//15 -r = = = = == 1;& &
H e El A E 3 o
* Applicable Tube fEFI#IE : Polyurethane, Nylon (@ O-Ring(NBR) i] I b 1 JSC5/16-N02 5/16 146 215 46 39.9 20.7 10.8 1/4 12
PUE (BREE) , BEE O B (THEHUED) al@]s ' . ’ ‘ '
’ i JSC5/16-N03 5/16 146 302 52 4.5 20.5 1.7 3/8 19
(] g?&éz(kp?pm) r 5 ] JSC5/16-N04 5/16 21 36.5 59.9 50.5 25.4 15.7 12 24
‘ ' JSC3/8-No1 3/8 176 292 43 38.9 15 78 1/8 12
© Necdielorasy QoRmER @ %‘?(f;’lﬂ’gf’t}g;;g‘”)""") 15C3/8-N02 38 17.6 292 46 39.9 207 108 14 2
a @ LockClaw(sus) J5€3/8-N03 3/8 17.6 30.7 52 445 205 7 3/8 19
@ U-Packing(NBR) ® g’g"d T (FHR) JSC3/8-N04 3/8 21 365 50.9 50.5 25.4 157 12 2
H OTI BEtF (TR @® Back Ring(POM) JSC1/2-ND2 12 21 336 46 39.9 20.7 10.8 1/4 12
High Accurancy M i A s P (e JSCL/2-N03 12 2 345 52 445 205 17 38 19
= JSC1/2-No4 1/2 21 36.5 59.9 50.5 25.4 15,7 1 24
B aws a

T [ e T e

JSC mcons | weo | Ao | 5 | W | e | 5 | € | ¢ | o]
JSCa-0L 4 11 23 4 189 15 78 s 12 JSC6-M5 6 13 24,5 30.5 27.6 12,2 3.5 M5 8
JsC4-02 4 11 24.6 46 3989 20.7 10.5 1/4 12 JSCE-ME 6 13 245 315 28:6 132 45 MG 8
1SCE.01 6 13 245 3 189 15 78 8 2 JSC4-GO1 4 11 23 412 371 13.2 6 1/8 12
15C6-02 6 13 %2 4% 399 207 108 1/4 19 JSC4-G02 4 11 246 424 363 17.1 7.2 1/4 12
15C6-02 6 13 286 52 445 205 117 38 19 JSC6-GO1 [ 13 245 41.2 371 13.2 6 1/8 12
1568-01 s 14.6 258 43 389 15 78 18 12 JSC6-G02 6 13 26.2 424 36.3 17.1 7.2 1/4 12
15C8-02 s 146 275 4 39.9 20.7 108 14 1 JSC6-G03 6 13 28.6 48.7 41,2 17,2 8.4 3/8 19
y B ) J5C8-03 8 146 302 52 45 20.5 117 3/8 19 be 0t § 2o =0 412 st 122 8 48 B
E 15C8-04 8 2n 365 59.9 505 5.4 157 12 2 JSC8-G02 8 14.6 21.5 424 36.3 17.1 T2 1/4 12
d JSC10-01 10 17.6 292 4 18,9 15 748 18 19 JSC8-G03 8 14.6 30.2 48.7 41.2 17.2 8.4 3/8 19
5] ‘ 3 < JSC10-02 10 17.6 29.2 46 399 20.7 10.8 1/4 12 it @ - i 3 405 A AL 172 i
: i JSC10-03 0 17.6 307 52 445 205 17 38 19 JSC10-G01 10 176 29.2 40.2 371 13.2 6 1/8 12
w Q\_F JSC10-04 10 21 365 50.9 505 5.4 157 12 2 JSC10-Go2 10 17.6 29.2 42.4 36.3 17.1 7.2 1/4 12
- 1SC12-02 12 21 336 46 39.9 207 108 14 19 JSC10-G03 10 17.6 30.7 48,7 41,2 17,2 8.4 3/8 19
JSC12-03 12 21 345 52 445 205 17 38 19 JSC10-G04 10 21 36.5 55.9 46.5 214 117 1/2 24
ISC12-04 12 n 65 59.9 505 954 157 12 2 JSC12-G02 12 21 336 42.4 36.3 171 T2 1/4 12
JSC12-G03 12 21 345 48,7 41.2 17.2 8.4 3/8 19
JSC12-Go4 12 21 365 55.9 46.5 214 AT 1/2 24

69 Zhejiang Ideal Bell Technology Co.,Ltd. 70



Speed Controllers

VR

PA

=

PA4 4

PAG6 6
PA8 8
PALQ 10
PA12 12

T

PA5/32 5/32
PAL/4 1/4
PAS/16 5/16
PA3/8 3/8
PA1/2 1/2

49.6

49.6

39.7

39.7
39.7
48.8

48.8

39.7

39.7
39.7
48.8

48.8

341
341
341

40.9

40.9

IR I I I
e e e e e
341 17 15.5 18 25

34.1

341

40.9

40.9

17

17

17

21

21

17

17

21

21

15.5

15.5

215

21.5

18

18

24

24

25

25

31

31

43

43

43

43

4.3

n

Hand Valves
FiF]

Applications/ i/

* Used for switching compressed air.
AT ESIERSERTRRE.

* Hand Valve switches compressed air on/off air pressure devices by simply turning the handle.

FiR R MM RRIFRERH [ KSR E,

* Maintenance or inspection is possible when the remaining pressure in the device is removed.

ENEEHTHNENOTMOESE, WAEEREEANRREN.

* There are 4 types available depending on the method applied to air pressure flow.
RESERFTRIMA T %, HEOF ey Htm,

Zhejiang Ideal Bell Technology Co.,Ltd. 72



www.ideal-bell.com

Hand Valves
FifE]

HVU HVF

HVU 4 4 49.6 375 17 155 18 25 43 HVF5/32-N01  5/32 56.8 315 17 155 18 25 43 1/8 75
HVU6 6 53.1 375 17 155 18 25 43 HVF5/32-N02  5/32 58.3 375 17 155 18 25 43 1/4 9
HVU 8 8 56.6 35 17 155 18 25 43 HVF1/4-N01 1/4 59.9 315 17 15.5 18 25 43 1/8 75
HVU10 10 5.1 425 21 215 24 31 43 HVF1/4-NO2 1/4 61.3 375 17 15.5 18 25 43 1/4 9
L — " HVU 12 12 703 05 27 215 24 2 43 HVF1/4-N03 1/4 63.3 375 17 15.5 18 25 43 3/8 10
D % [+ { HVF1/4-N04 1/4 66.3 315 17 155 18 25 43 1/2 13
ald HVF5/16-N01  5/16 635 315 17 155 18 25 43 1/8 75
7 ] HVF5/16-N02 5/16 64.8 315 17 155 18 25 43 1/4 9
¥ [ ] HVF5/16-N03  5/16 66.8 315 17 155 18 25 43 3/8 10
= HVF5/16-N04 5/16 69.8 315 17 155 18 25 43 1/2 13
HVU - HVF3/8-N01 3/8 715 425 21 215 24 31 43 18 75

& G - i ; i 3
HVF3/8-N 74, 42, 21 21, 24 1 4, 1
5/32

HVF3/8-N04 3/8 77.9 425 21 215 24 31 43 1/2 13
HVU5/32 / 49.6 375 17 155 18 25 43

HVF1/2-N02 1/2 77.9 425 21 215 24 3 43 1/4 9
HVU1/4 1/4 53.1 315 17 155 18 25 43

HVF1/2-N03 1/2 79.9 2.5 21 215 24 3 4.3 3/8 10
HVU5/16 5/16 56.6 375 17 15.5 18 25 43

HVF1/2-N04 1/2 82.9 2.5 21 215 24 31 43 1/2 13
HVU3/8 3/8 65.1 425 21 215 24 31 43

. ’% = HVU1/2 12 703 425 21 215 2 31 43 HVC
D

2 % HVC 4-01 4 56.8 375 17 155 18 25 43 1/8 75
E HVC 4-02 4 58.3 375 17 155 18 25 43 1/4 9
HVF HVC 6-01 6 59.9 375 17 155 18 25 43 1/8 75
HVC 6-02 6 613 315 17 155 18 25 43 1/4 9
| Jrwew) ] [ ] Jeer ]
HVC 6-03 6 633 315 17 155 18 25 43 3/8 10
[encoe o |+ |5 | <[ o | e | || o | i
HVF 4-01 4 56.8 315 17 155 18 25 43 18 75 KV 51 5 65 3 &k — & 4 “d 42 B
HVF 4-02 4 58.3 375 17 15.5 18 25 43 1/4 9 HVC 8-01 8 63.5 375 17 15.5 18 25 43 1/8 7.5
HVF 6-01 6 59.9 375 17 155 18 25 43 1/8 75
PPy : e 375 17 o 18 25 Py Va 9 HVC 8-02 8 64.8 375 17 155 18 25 43 1/4 9
HVF 6-03 6 63.3 315 17 15.5 18 25 43 3/8 10 HVC 8-03 8 66.8 375 17 15.5 18 25 43 3/8 10
HVF 6-04 6 663 375 17 155 18 25 43 1/2 13
e 2 = e = e 2 = e 8 = HVC 8-04 8 69.8 375 17 155 18 25 43 12 13
HVF 8-02 8 64.8 37.5 17 155 18 25 4.3 14 9 HVC 10-01 10 715 45 21 215 24 31 43 1/8 75
HVF 8-03 8 66.8 375 17 155 18 25 43 3/8 10
HVF 8.04 8 P 315 07 155 18 2 43 12 B | HVC 10-02 10 729 425 21 215 24 31 43 1/4 9
HVF 10-01 10 L5 42.5 2 215 2 31 43 118 7.5 HVC 10-03 10 74.9 425 21 215 24 31 43 3/8 10
HVF 10-02 10 729 425 21 215 24 31 43 1/4 9
HVF 10-03 10 749 425 21 215 24 31 43 38 10 HVC 10-04 10 7.9 42.5 24 215 24 3 43 172 13
HVF 10-04 10 779 42.5 21 215 24 31 4.3 1/2 13 HVC 12-02 12 77.9 425 21 215 24 31 43 1/4 9
VF 12-0 9 1 21. 1 43 1/4
EVE1d:02 12 LL L 2 2 C 2 f 2 HVC 12-03 12 79.9 25 21 215 24 31 43 3/8 10
HVF 12-03 12 79.9 425 21 215 24 31 43 3/8 10
HVF 12-04 12 82.9 425 21 215 24 31 43 1/2 13 HVC 12-04 12 82.9 425 21 215 24 31 43 1/2 13

13 Zhejiang Ideal Bell Technology Co.,Ltd. 74



Hand Valves

FiE

HVC

\

HVC5/32-N01

HV(C5/32-N02

HVC1/4-NO1

HVC1/4-N02

HVC1/4-N03

HVC1/4-N04

HVIC5/16-N01

HVC5/16-N02

HVC5/16-N03

HVC5/16-N04

HVC3/8-NO1

HVC3/8-N02

HVC3/8-NO3

HVC3/8-N04

HVC1/2-N02

HVC1/2-N03

HVC1/2-N04

5/32

5/32

14

1/4

1/4

1/4

5/16

5/16

5/16

5/16

38

3/8

3/8

3/8

1/2

1/2

1/2

63.5

64.8

66.8

69.8

715

729

74.9

375

375

375

37.5

375

37.5

375

375

425

42.5

425

42.5

425

42,5

42.5

21

21

21

21

15.5

155

15.5

155

15.5

155

15.5

155

215

215

215

215

21.5

21.5

215

24

24

24

24

2

31

31

3

31

43

43

43

43

43

43

43

43

43

43

43

43

4.3

43

43

1/8

1/4

3/8

1/8

1/4

3/8

1/8

1/4

3/8

1/2

1/4

3/8

1/2

13

10

13

www.ideal-bell.com

5

Zhejiang Ideal Bell Technology Co.,Ltd. 76




www.ideal-bell.com

Check Valve
=0 [

Features/ $J1i

- Uni-directionality of airflow is maintained while the flow of air in the opposite direction is completely prevented.
- Constant input and output air pressure is achieved due to the controlled directionality of airflow.

- Suitable for the pneumatic applications under low operational pressure conditions.

Flow direction as below: Ais In type, B is OUT type

OUT Type

CvPC

CVSFM

CVPUC =

CVSF

Specifications/ HAR S

Applicable Fluid Type Compressed Air

Working Pressure Range -100KPa ~ 1Mpa

Negative Pressure 5kpa

Working Temperature Range [PRRLIAIN(NS) -5~60°C (Air)

Recommanded Tubings PA11, PA12, PA6, PE, PU,FEP,PFA

Zhejiang Ideal Bell Technology Co.,Ltd. 78




(h ec k Va Ive www.ideal-bell.com
R [l8)

CVPC CVPUC

CVPC4-01A 4 1/8 Thread to Tube CVPC5/32-NDIA  5/32 1/8 Thread to Tube CVPUC4 4 CVPUC5/32 5/32
CVPC4-02A 4 1/4  Thread to Tube CVPC5/32-N02A  5/32 1/4  Thread to Tube CvPUCE 6 CvPUC1/4 1/4
CVPCE-01A 6 1/8  Threadto Tube CVPCI/A-NOIA  1/4 1/8  Threadto Tube cvpuCs 8 CVPUC5/16 5/16
CVPC6-02A 6 1/4 Thread to Tube CVPC1/4-NO2A  1/4 1/4 Thread to Tube CVPUC10 10 CvPUC'3/8 3/8
CVPC6-03A 6 3/8  Thread to Tube CVPCI/4-NO3A  1/4 3/8  Threadto Tube CVPUC12 12 CVPUC'1/2 172
CVPC6-04A 6 1/2  Thread to Tube CVPC1/4-NO4A  1/4 12 Thread to Tube
CVPC8-01A 8 1/8  Thread to Tube CVPC5/16-NO1A  5/16 1/8  Threadto Tube
CVPC8-02A 8 1/4  Thread to Tube CVPC5/16-NO2A  5/16 1/4  Thread to Tube
CVPC8-03A 8 3/8  Thread to Tube CVPC5/16-NO3A  5/16  3/8  Thread to Tube
CVPC8-04A 3 1/2  Thread to Tube CVPC5/16-NO4A  5/16 12 Thread to Tube
CVPC10-01A 10 1/8  Thread to Tube CVPC3/8-NO1A  3/8 1/8  ThreadtoTube
CVPC10-02A 10 1/4  Thread to Tube CVPC3/8-NO2A  3/8 1/4  Thread to Tube
CVPC10-03A 10 3/8  Thread to Tube CVPC3/8-NO3A  3/8 3/8  Thread to Tube
CRCIoo 10 12 TheadoTube  CCYBNOGM Y8 42 ThreadtoTube
CVPC12-02A 12 1/4  Thread to Tube CVPCL/2-NO2A  1/2 1/4  Threadto Tube CVSF-01 1/8
CVPC12-03A 12 3/8  Thread to Tube CVPC1/2-NO3A  1/2 3/8  Thread to Tube CVSF-02 1/4
CVPC12-04A 12 1/2  Thread to Tube CVPCI/2-NO4A  1/2 12 Thread to Tube CVSF-03 3/8
CVSF-04 12
CVPC
Item Code OEII:fm Tgfﬁ.zd- Flow Direction Item Code O-EI;I:Ill:IeCh T’:;?rd' Flow Direction
CVPC4-01B 4 1/8 Tube to Thread CVPC5/32-NO1B 5/32 1/8 Tube to Thread
CVPC4-02B 4 1/4  Tubeto Thread CVPC5/32-NO2B  5/32 1/4  Tubeto Thread
CVPC6-01B 6 1/8  Tubeto Thread CVPC1/4-NO1B 1/4 1/8  Tubeto Thread
CVPC6-02B 6 1/4 Tube to Thread CVPC1/4-N02B 1/4 1/4 Tube to Thread
CVPC6-03B 6 3/8 Tube to Thread CVPC1/4-N03B 1/4 3/8 Tube to Thread CVS F M
CVPCE04E 6 12 Tube to Thread CVPC1/4-NO4B 1/a 12 Tube to Thread ) Item Code Thread-PT/G/NPT  Flow Direction S o5 Item Code Thread-PT/G/NPT  Flow Direction
CVPC8-01B 8 1/8  TubetoThread CVPC5/16-NO1B  5/16  1/8  TubetoThread CVSFM-01A 1/8 Male To Female CVSFM-01B 18 Female to Male
CVPCB-02B 8 1/4  TubetoThread  CVPC5/16-N02B  5/16  1/4  Tubeto Thread — CUSEM-02, 4 Male To Fernale e CVSEN-025 13 Fiathile o Male
CVPC8-03B 8 3/8  TubetoThread  CVPCS/IGNO3B  5/16  3/8  TubetoThread = S ol LLou e SR S8 Eaeenie
CVPCB-04B 8 12 TubetoThread  CVPC5/16-NO4B  5/16 12 TubetoThread CVSFM-04A 12 Male To Female CVSFM-048 112 Female to Male
CVPC10-01B 10 1/8  TubetoThread CVPC3/8-NO1B 3/8 1/8  Tubeto Thread
CVPC10-02B 10 1/4  TubetoThread CVPC3/8-NO2B 3/8 1/4  Tubeto Thread
CVPC10-03B 10 3/8  TubetoThread CVPC3/8-NO3B 3/8 3/8  Tubeto Thread
CVPC10-04B 10 12 Tube to Thread CVPC3/8-N04B 3/8 1/2 Tube to Thread
CVPC12-02B 12 1/4  TubetoThread CVPC1/2-N02B 12 1/4  Tubeto Thread
CVPC12-03B 12 3/8  TubetoThread CVPC1/2-NO3B 1/2 3/8  TubetoThread
CVPC12-04B 12 /2 TubetoThread CVPCL/2-N04B 12 1/2  Tubeto Thread

79 Zhejiang Ideal Bell Technology Co.,Ltd. 80



